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of el M &AL AR =& 20,000 507,680 A 487,680
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403 XIS S X201 & 4,355,000 0 4,355,000
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= 1,874,000
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& 500,000
< 150,000
403 MtXISHH S0l & 650,000 0 650,000
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- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
off 2 & OF 1t 16,656,200 18,733,748 A2,077,548
= 11,790,000
< 4,866,200
o ohE H E | 8,862,500 12,062,648 A 3,200,148
& 6,916,000
< 1,946,500
Aokl HMAHZF 2e| 8,862,500 12,062,648 A 3,200,148
& 6,916,000
< 1,946,500
1Ot HIALY 7,640,000 9,879,000 A 2,239,000
= 6,690,000
< 950,000
207 A RO 429,000 357,000 72,000
= 300,000
< 129,000
01 A3l 429,000 357,000 72,000
OOt ADLIHE (Z2SEH]) 429,000
& 300,000
< 129,000
403 UHXSHHSA=0l& 7,211,000 9,522,000 A 2,311,000
& 6,390,000
< 821,000
01 X SHMA2E X 7,211,000 9,522,000 A 2,311,000
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=1 6,390,000
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403 XIS E A0l & 120,000 120,000 0
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Ool==2HEHYALZH LSS 120,000
TESALMYI==00AHS 294,000 270,648 23,352
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= 226,000
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& 226,000
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Oo+==2HIHAXZRAAALI X 100,000
& =S T off B XA TH 3] O = 30,000 50,000 A20,000
308 XX EHH SOl 30,000 50,000 220,000
01 HIXNHHNBNEES 30,000 50,000 220,000
OZ A= S oI XA O3 O = 30,000
SHotFMYIIMEAMSEE S 84,000 90,000 A 6,000
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- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
308 X EHSOIA 1,500,000 1,500,000 0
01 HIXNHHBHNEELES 1,500,000 1,500,000 0
OxEgtddotatAboldat s X X& 1,500,000
ZENIHEAHNIA (I NHAEXA) 70,000 70,000 0
307 eIzl & 70,000 70,000 0
02 2B EXS 70,000 70,000 0
OZ=SNIOHEMEHX R 70,000
S22 Y BEHE =AM EY 80,000 0 80,000
207 RO 80,000 0 80,000
01 A7 39l 80,000 0 80,000
O=S32HLEIEdIAMNES 80,000
[l R e = RN R R | 20,000 24,000 A 4,000
201 Let24d] 10,000 12,000 A 2,000
01 At 22/l 10,000 12,000 A 2,000
Oggt=2tl 10,000
OfYMISHAHAMTRAAAUHES 8,000
oAr22s+7Y 2,000
202 O4dl 10,000 12,000 A 2,000
01 = LH 4 Hi 10,000 12,000 A2,000
Ooigad=s4 =804 10,000
FHX N 4,875,000 2,867,000 2,008,000
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< 1,000
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< 1,000
ENEE ML ALY 4,874,000 2,866,000 2,008,000
& 4,874,000
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01 AXISHHA=2E = 4,874,000 2,866,000 2,008,000
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& 4,874,000
S AN AL =X Z 1,000 1,000 0
202 (44l 1,000 1,000 0
01 SLHOIYI 1,000 1,000 0
OEAMSENEAEFENL 1,000
AL ZH| (o LEetnt) 60,700 61,100 A 400
Jl23&dl 60,700 61,100 A 400
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M ox
40 5 4

- _ _ RE]
SoSN - SH(EH) - NEAY - B %Eﬁ HR=2
HSEMAHE Y OrA &Y A& 420,000 525,000 A 105,000
403 XX SHS K20 & 420,000 525,000 A 105,000
01 XIS AS2E X 420,000 525,000 A 105,000
O MAY E2YLorA &Y A& 420,000
HENHBIG R XM =X 656,400 96,400 560,000
201 LBt ]| 16,000 16,000 0
01 AP 22| H| 16,000 16,000 0
OgBtL&H| 13,000
O AR EANGXNELNEROUS 13,000
Oeds¢ 3,000
OLzs|oas+g 3.000
203 R F & 5,000 5,000 0
03 AIZH =& 25X H| 5,000 5,000 0
OYBAMEAER=Z 5,000
303 Z&A 2 400 400 0
01 LAZ 400 400 0
O2MAEANHRBBLAAIY 400
308 MXISHMSOIA 15,000 15,000 0
01 IXHHIMNEEXTZ 15,000 15,000 0
J=SoSEAMAMSANIESHERNS 15,000
403 XX SHHS K20 & 620,000 60,000 560,000
01 AIXISHHMAZ2E X 620,000 60,000 560,000
OSHSESMUAHNIBSO2AUAALAR2A 120,000
OO0SE0YAELdAX 500,000
CtE Ao AI &R 597,700 619,200 A 21,500
2 556,000
o=t 41,700
403 XX SHHMS K201 A 597,700 619,200 A 21,500
2 556,000
o= 41,700
01 XIS A2E X 597,700 619,200 A 21,500
OGS AINMEX(ZEZH) 597,700
2 556,000
& 41,700
DNasHEdasEdEH XA 310,050 458,900 A\ 148,850
= 238,500
&< 71,550
403 XX SHHS K20 & 310,050 458,900 A 148,850
= 238,500
&< 71,550
01 XIS A=Z2E X 310,050 458,900 A 148,850




A= SoorgREAE FA LA EY
HE: aeo MY
e RV EETEE ST CERED
- _ — d =
RRA B BN NRAY - BES 0l &k o4 e HlnE2
ONSEddsRELEHXA 310,050
2 238,500
< 71,550
MEHEUHFAIH ALY 1,993,057 1,993,057 0
= 1,766,000
= 227,057
403 MtXISHHE X201 E 1,993,057 1,993,057 0
= 1,766,000
< 227,057
01 AXSHMA=2EE 1,993,057 1,993,057 0
Dol AAIEAS 1,993,057
= 1,766,000
< 227,057
HINH Y AT H (A 1,564,920 1,884,475 A 319,555
= 1,419,600
< 145,320
403 A X EHS =0l A 1,564,920 1,884,475 A 319,555
= 1,419,600
< 145,320
01 X EHHMA=ZLE L 1,480,920 1,798,475 A 317,555
Ot g R EEH (o) 1,480,920
= 1,377,600
< 103,320
02 S| 2SO0l CHEHCH & A B 84,000 86,000 A 2,000
A S A B R A} 84,000
= 42,000
< 42,000
HERALH AN A 2HE X 400,000 400, 000 0
308 MtXIEHMSOIH 400,000 400,000 0
01 HXNHHNBHELS 400,000 400,000 0
O YAHATMHELESE S XA 400,000
TAHESNE =L AESH A A 258,000 0 258,000
=2 240,000
< 18,000
308 A EHHSOIA 258,000 0 258,000
=2 240,000
< 18,000
01 HIXNHHBMNEES 258,000 0 258,000
OxAd=cl A=A SH B HH| 9,675
= 9,000
< 675
Oxd=cl g HA=S 248,325
= 231,000
< 17,325
EoHgFAI A= 19,039,710 17,319,118 1,720,592
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40 5 4

HEXG SA AT
=Rl
BT S

CEHE B (BH) - NRAY - BYS 0 AF o il HDS2

= 73,200
= 9,164,000
& 9,826,510

5,931,000 7,431,000 A 1,500,000

403 IR HHSA201H 5,931,000 7,431,000 A 1,500,000

01 XX SHMA2EX 5,931,000 7,431,000 A 1,500,000
OXgoaAls 3,000,000
Ogatgt 125,000
OX &g 125,000
OogAsg 125,000
oues 125,000
OO0l Jtel & 100,000
(OF:FSE-1 150,000
Ol A5t 300,000
OztZg 500,000
O & Abst 100,000
O=&8g 150,000
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O&ALE 90,000
o812 60,000
Ooa2x22 & 60,000
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A= SoorgREAE FA LA EY
HE: aeo MY
S9l: ENEBBODARE CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
ABUHEAM(HAKANAXEL) 3,767,500 3,312,500 455,000
= 3,014,000
< 753,500
401 Al HI K 201 I 3,767,500 3,312,500 455,000
z 3,014,000
< 753,500
01 A& Bl 3,741,630 3,289,500 452,130
D20 EAL(ZSTH) 3,741,630
2 2,993,304
< 748,326
03 Al S THHI 25,870 23,000 2,870
OSHE=ALE2UHI (ZSZHI) 25,870
& 20,696
S 5,174
HEO R (HYTRAANEA) 500,000 625,000 A 125,000
2 400,000
< 100,000
403 A X EHHSH20IA 500,000 625,000 A 125,000
z 400,000
< 100,000
02 S| 2 S0il CHSHCH & A B 500,000 625,000 A 125,000
goz=o&d2e(25<Hl) 500,000
2 400,000
= 100,000
HEMEEOISMREUHEXA 63,960 53,568 10,392
= 49,200
< 14,760
308 XX EHHSOIA 63,960 53,568 10,392
= 49,200
< 14,760
01 IXNHHBNEES 63,960 53,568 10,392
OHEME I SMREHEXN A 63,960
= 49,200
< 14,760
SEHANSYEZL 1,365,000 1,333,800 31,200
= 1,050,000
< 315,000
403 UHXISHHE X201 H 1,365,000 1,333,800 31,200
= 1,050,000
< 315,000
01 XM 2= 1,365,000 1,333,800 31,200
OsSg9AsazTS(#SZH|) 1,365,000
& 1,050,000
= 315,000
OHHICIS Z (I EF X)) 400,000 500,000 100,000
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A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2

403 UHXSHHSA=0l& 400,000 400,000 0

01 X SHMA2E X 400,000 400,000 0
OJootHtti =& o 400,000

HEa2ads 283,000 229,000 54,000

403 XSS A0l & 283,000 229,000 54,000

01 AXISHHA=2E = 283,000 229,000 54,000
OodEs4gsiotisxd 45,000
OdEdeEnssd 42,000
OIS SANEEEL 96,000
D=2 =3 X 100,000

S HH UGS ESAE 8,617,428 8,114,943 502,485
= 4,470,000
& 1,327,000
< 2,820,428

SAFINHESS 194,000 176,000 18,000

403 A X EHHSH20IA 194,000 176,000 18,000

01 X ESHMA=E L 194,000 176,000 18,000
OUW=SHAAHEITNHE2 29,000
Ool=83HSAHEIINMSS 147,000
OSENII A & st X 18,000

== &FTHOH CHHI O 3t At A X R 50,000 42,000 8,000

403 UHXSHHSA=0l& 50,000 42,000 8,000

01 HXSHHMA2E X 50,000 42,000 8,000
CO=&HTHOH CHEI 4 3 ab A KT & 50,000

H=HHZAIELME S 60,000 60,000 0

403 MtXISHH S0l & 60,000 60,000 0

01 XM A2E X 60,000 60,000 0
OWH=HOHSANELHNE S 60,000

et & 2el 210,000 145,000 65,000

403 XIS E X201 H 210,000 145,000 65,000

01 X2 2= 210,000 145,000 65,000
IESES=1N 60,000
O SESHENAAEA 150,000

HiCt=Z & ALY 250,000 300,000 250,000

403 MtXISHH S0l & 250,000 300,000 A50,000

01 AXISHHA=2E = 250,000 300,000 A 50,000
ObtC=X 8 Mg 250,000

HEAXSSUIIEE Y 858,000 634,000 224,000




Sofote A E=RICH 2A 0 =ARED

S =E LR

BAMS MU IS HBAE (B9 ®R)
- _ _ RE]

2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
403 XX SHHS K20 & 858,000 634,000 224,000
01 AIXISHHMA=Z2E X 858,000 634,000 224,000

OO0t & oA & H| X & 84,000
OIS & 2HHHR &I 105,000
O MS P2 H AL 169,000
OF3HAEXOHHY &= 400,000
OXAHSESEZUHXS 100,000
SHRNIIEHUSHSFASEFTA 40,000 70,000 A 30,000
201 LBt 5,000 5,000 0
01 AP 22| H| 5,000 5,000 0
Oeds¢ 1,000
OZ20xgosegdPzadrd 1,000
2 &H| 4,000
O EESEHIUZSESA S FRZ A 4,000
202 044l 15,000 15,000 0
01 2L I 15,000 15,000 0
OtF3 XSG RIS ESIASE =R Y| 15,000
301 et A= 20,000 50,000 A 30,000
01 Al E & A 462 20,000 50,000 A 30,000
O&+0EA XS HI X & 20,000
SAMSAEHAZ|HAZS 100,000 81,000 19,000
= 100,000
403 XX SRS K 20| & 100,000 81,000 19,000
= 100,000
01 MXHAHE2BE = 100,000 81,000 19,000
Ot AHAL|HAZEZ 100,000
= 100,000
AMNHEHIALY 126,000 140,000 A 14,000
2 126,000
308 AKXl €I S 0 & 126,000 140,000 14,000
2 126,000
01 AIXSHMENMNEX= 126,000 140,000 A 14,000
OYAHEEF(ZHETH|) 126,000
2 126,000
SZMERNULZ(HAMRMAXEZS) 712,128 700,843 11,285
2 631,000
& 81,128
403 Lt XIS A S K20l & 712,128 700,843 11,285
2 631,000
& 81,128
01 XIS AZ2E X 712,128 700,843 11,285




A= SoEAFAS 2A 0 =ARED
HE: aeo MY
B EEEEIE (B9 ®R)
- i - o
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
O+ ERYS S (FSEH) 712,128
= 631,000
= 81,128
HE sl sSsH XS 3,428,600 3,658,000 A 229,400
= 2,765,000
= 663,600
403 XX SHHS K20 & 3,428,600 3,658,000 A 229,400
= 2,765,000
& 663,600
01 AIXISHMA=2E X 3,428,600 3,658,000 A 229,400
Ogans2aelssHiH 3,428,600
= 2,765,000
& 663,600
SUERUBSDHEAM KL RINAXZS) 100,000 100,000 0
= 70,000
& 30,000
403 AIXSHME X201 N 100,000 100,000 0]
= 70,000
o= 30,000
02 SII2S 0 CHSHCH e AFS I 100,000 100,000 0
O4+MERYEEBTAH(ZSETY) 100,000
= 70,000
= 30,000
NUCE2OTH IR A 37,700 37,700 0
= 29,000
& 8,700
403 XX SHHS K20 & 37,700 37,700 0
= 29,000
& 8,700
01 XIS A=Z2E X 37,700 37,700 0
ODNYUeEcEEEZ2XAY 37,700
= 29,000
o= 8,700
SHAESEMSAS 266,000 215,400 50,600
= 266,000
308 XtXI &M S0l & 266,000 215,400 50,600
2 266,000
01 HXHHIMNEXTZ 266,000 215,400 50,600
OSAIEEEHNE A 250,000
= 250,000
OWEHLANRES A 2 16,000
= 16,000
SOl Ctoll & LAl ALH ST A 650,000 650,000 0
2 500,000
& 150,000
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403 UHXSHHSA=0l& 650,000 650,000 0
& 500,000
< 150,000
01 X SHMA2E X 650,000 650,000 0
Osdiotof et al st sd(Z2S<Hl) 650,000
= 500,000
< 150,000
Ao Sl SAANSEHEZHE 975,000 325,000 650,000
= 750,000
< 225,000
403 MtXISHHE X201 & 975,000 325,000 650,000
= 750,000
< 225,000
01 X SHHA2E = 975,000 325,000 650,000
O8I FeISAMABHEHE 975,000
= 750,000
< 225,000
IS 2 A 560,000 0 560,000
= 560,000
308 MXIEHSOIH 560,000 0 560,000
= 560,000
01 HXNHHBHELS 560,000 0 560,000
OS2 2HAIE (HX) 500,000
= 500,000
2ol 2 M A (S Itel) 60,000
= 60,000
MEst=MEE S 17,201,145 15,554,243 1,646,902
= 237,500
= 11,532,000
J| 170,000
& 30,403
< 5,231,242
SRR = gl = = R | AR 20,000 20,000 0
307 21201 A 20,000 20,000 0
02 QB AEXS 20,000 20,000 0
Ot e IOt X2 20,000
SUERSHA 500,000 333,000 167,000
403 A X EHHS =0l A 500,000 333,000 167,000
01 X EHHMA=E L 500,000 333,000 167,000
O==&MSEHENLARAZIIXA 210,000
OasaALISABSH 50,000
O==&SHel MEAMEXE 168,000
OXNGSLLASIHSAEAS 72,000
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A SA - SAEA) - MRAY - BES 0l &t o il HImEET
NHEst =L =2 AHEH 96,000 96,000 0
403 UHXISHHSA=0l& 96,000 96,000 0
01 XM= E L 96,000 96,000 0
OXNEEst=MSAHEA 96,000
S MEISAE 0N 222l (HACCP) £ HI XI& 63,000 63,000 0
403 XSS A=0l& 63,000 63,000 0
01 XM A2E X 63,000 63,000 0
O==&2It3 A& 201 4 22l (HACCP) &l X & 63,000
A =405 AR 40,005 40,005 0
& 30,403
< 9,602
308 XXM SOIA 40,005 40,005 0
& 30,403
< 9,602
06 nFI20HUSEXS 40,005 40,005 0
O =4 nt = A X (012F) 40,005
&2 30,403
< 9,602
HEEHANRF=SHIXZ 100,000 100,000 0
308 MXIEHSOIH 100,000 100,000 0
01 HXNHHNBHELS 100,000 100,000 0
O EHAMEFSH XA 100,000
HEERFJH XA 507,000 507,000 0
403 XM SA=0l& 507,000 507,000 0
01 X SHMA=E X 507,000 507,000 0
gogEssoxa 507,000
QANRASHA2SH R 21,000 21,000 0
403 UHXSHHEX=0lH 21,000 21,000 0
01 *XSHMA=2EE 21,000 21,000 0
O RaMSa 2SI XA 21,000
HEREI3AS 20,000 20,000 0
308 XX EHH SOl A 20,000 20,000 0
01 AXHHILEES 20,000 20,000 0
OHERE S AHSAA 20,000
HANHETEHZHIXA 10,000 15,000 A5,000
307 gl2tol & 10,000 15,000 A5,000
02 RIZHEANEXS 10,000 15,000 A5,000
OS2 (TAC)I2ZHE 2 3l X 10,000
Hgelillsd =23 63,240 63,240 0




AR SHULEEIG SN SMEED
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A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
308 X EHSOIA 63,240 63,240 0
01 HIXNHHBHNEELES 63,240 63,240 0
O==&d2XNES 52,320
e golofel = 10,920
st =MEESFA 20,500 20,500 0
201 Let249] 5,500 5,500 0
01 At 2teltl 5,500 5,500 0
E=3=3:] 5,500
OMMBIANSBIEFTA 5,500
202 (44l 15,000 15,000 0
01 S LHOIYI 15,000 15,000 0
Odldet=ME2 25 F 80| 15,000
=M ZAX IS AIE 2,519,400 975,000 1,544,400
= 1,938,000
< 581,400
403 A X EHHSH20IA 2,519,400 975,000 1,544,400
& 1,938,000
< 581,400
01 HXESHHMA=E L 2,519,400 975,000 1,544,400
O8NS ANE(ZSEY) 2,519,400
= 1,938,000
< 581,400
S AAZAE NS ALY 58,500 0 58,500
= 45,000
< 13,500
403 UtXISHH S0l & 58,500 0 58,500
= 45,000
< 13,500
01 XM A2E X 58,500 0 58,500
= AEAIEAIE N A AL 58,500
= 45,000
< 13,500
SMASHEHIZHE 3,697,000 3,120,000 577,000
= 2,844,000
< 853,000
403 A X EHHS =0l A 3,697,000 3,120,000 577,000
= 2,844,000
< 853,000
01 X SHHX2E= 3,697,000 3,120,000 577,000
OWHIIMASNBHIAZTE (ZESY) 2,787,000
& 2,144,000
< 643,000
Os2UAAMELN L (BEFY) 910,000
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2. 2A B E(AN) - MEAY - BYS 0l &t o8 il HlnE2
Z 700,000
= 210,000
M ESSHBANESE WS 650,000 0 650,000
2 500,000
< 150,000
403 UHXSHHSA=0l& 650,000 0 650,000
= 500,000
< 150,000
01 HXSHMA=E X 650,000 0 650,000
AUSTENBANLEUE (RSEY) 650,000
2 500,000
< 150,000
2O ALMAZSHECUIEH 6,825,000 3,250,000 3,575,000
2 5,250,000
< 1,575,000
403 UtXISHH S A0l & 6,825,000 3,250,000 3,575,000
2 5,250,000
< 1,575,000
01 XS M A=2EE 6,825,000 3,250,000 3,575,000
ORI ASMABHELNEL (REEY) 6,825,000
= 5,250,000
< 1,575,000
SMASLES DU AE 165,000 165,000 0
= 165,000
308 XX EHHSOIA 165,000 165,000 0
= 165,000
06 WSII20UHEt2x= 165,000 165,000 0
OxMAHSES D DX AIL (SR AMEIZ ) 165,000
= 165,000
HIZHEHEII=S+=A 170,000 1,000,000 830,000
| 170,000
308 XXM SO0 A 170,000 1,000,000 A 830,000
| 170,000
01 AXSHBLEES 170,000 1,000,000 A 830,000
OO Eci ot M e ol =H 170,000
| 170,000
DM AEEINNE 49,500 49,500 0
= 27,500
< 22,000
403 MtXISHH S0l & 49,500 49,500 0
= 27,500
< 22,000
02 BJ| 2SO0l CH SHCH & AF 2 HI 49,500 49,500 0
DD MAE20HUER2S 49,500
= 27,500
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HH: BHSYAU (SATRHLATL)
Sel: o2y (B9 ®R)
AR RA BB OBH) - MBEAY - BAS 0 AF o ﬁlf& HD=2
- 204 0] &~254 0] 8¢ 110,000& x5 x12& 6,600
- 15490l &~20 0] B¢ 80,0003 x4H x12& 3,840
- 109 0l & ~15 0] 2F 60,0003 »3H x12& 2,160
- 54 0] A~104 0] B¢ 50,0003 x3E x12& 1,800
O 112,300
OAZAZ2FY 65,131
-HHZ 9,692& x10Al 2tx 16 x12& 18,609
- X2 9,692% x25A] 2tx 16 x12& 46,522
OIE=Y 17,640
- B X+ 40,0003 * 178 «12& 8,160
- JIEHOHS 20,000& *32H x12& 7,680
- Jhit= 30,000& x5H »12& 1,800
OXNESHHIE X4 3,472
- SsHM 433,880& x2H x43] 3,472
OExX22xY 6,120
- ¥ Xl 30,000& *17H x12& 6,120
OREg=22xg 960
-23 40,0003 »2H x12& 960
Oz 50,000& »3H x12& 1,800
oles=ax4¢ 7,697
-52U R 3,050, 100Q x4 . 1%+ 1H x12& 1,501
-HA2UR 3,148,200& x4 . 1%*4H x12& 6,196
OSx+g2Y 9,480
-JlsdEsrY 5,640
42,53 50,000& »2H x12& 1,200
62,72 30,0003 x4 x12& 1,440
8= 20,000& x5 x12& 1,200
JbAEZ (D1 AF) 30,0003 *3¥9 x12& 1,080
DFARZ2 (A DI AF) 20,000& x2H x 128 480
3 (28 ) 20,0003 14 =128 240
-HALERE Y 3,840
HAIAAZS R 80,000& x4H x12& 3,840
O A ZAH| 130,000& x17H x12& 26,520
OYEEZOHY] 518,361,000 *1/12%60%*23] 51,837
I E A
589,639,000 *1/12x86%*1/30* 19! 26,764
03 I HLsZ22 NHE 305,852 292,904 12,948
O EX 38,310
oJl=3 58,4703 x1H %250 14,618
oan=3 14,618,000& *1/12%400% 4,873
OF&¢ 58,4703 1 %52 3,041
O9 XY 58,4703 x1Z8 20 1,170
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- 108 0l &
(((10E +7,000 )+(13E-10)*2,000& )12 912
)19
OIESY 480
- BH < Xt 40,0003 18 +x12& 480
OnE2xH| 60,000& x1H x12& 720
OY &=t 600,000& x1H 23| 1,200
OFAHZAHI 130,000& x1H ~12& 1,560
OAZt224<
58,4702 x1.5/8x10Al 2tx1H x12& 1,316
OERZ2R4E 58,4703 *1.5%x1H x4 x12& 4,210
Osga=2xg 58,4703 *1.56x1H x4 x12& 4,210
OZQMAEIS 232,702
oJl=3 42 1803 »8H 250 84,360
Oan3 84,360,000 x1/12%400% 28,120
OF52Y 42,1803 »8H »52= 17,547
Od X< 42,1803 »8H x 15 5,062
o=2s52Y 4,752
- 10 0| Bt 6 *7,000& 128 x6H 3,024
- 10 0l &
(((10E 7,000 )+(11E-10)*2,000& ) *12 1,728
g )x2H
OIEx=Y 5,040
- B X+ 40,000 »8H x 128 3,840
- JIEHOHS 20,000& x5 128 1,200
Ons=2xy| 60,0003 x8H x12& 5,760
OY &=t 600,000 *x8H *23| 9,600
OFHZAH| 130, 000& 8 x12& 12,480
OAZtAZFEY
42 180 *1.5/8+15A1 2+ +8H 128 11,389
OERZFELE 42 1803 x1.5x8H x4 x12& 24,296
o= 42,1803 *1.5x8H x4 x 128 24,296
OOl =dl 100, 000& x8H »23| 1,600
O0Hsge=sdsa 30
80,000& 8 2 x83] 10,240
O5HAEI 2 S 23,000
204 & 2 =S A H| 32,760 32,340 420
02 =282 x4 32,760 32,340 420
4= 400,000 x1H x12& 4,800
052 250,000@ x1H +x12& 3,000
62, A2 Al 155,000& 8 12& 14,880
o722 140,000& x3H ~12& 5,040
[18=2~9=2 105,000 x4« 12& 5,040
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